s

.parse() equation.

cd on matplothb

pairtwist2

n sequenws as well as help identify

or protein sequences) in a specific order to

ts thnot e?

sum(len(Y)

andle,"fasta

| handle.open(“PML.fasta |

")

sequence lile

The genetic information encoded in the DNA must remain uncorrupt

[ A Tue JBFalse 00000 [

. isa python package for sequence analysis implemen

BIIASI can be used to mfcr funclloml and evolutionary relationships
members of gene families.

B. Falsc |

Sequence alignment is the process of arranging two or more sequences (of DI
identify the region of similarity between them.

3 o

Which term refers to the genetic makeup of an organism that contribs

A. Phenotype B. Genotype C. All

10| Which one of these BioPython code is Not true.
A-with open("PML.fasta") B- with open("PML.fasta")
as handle: print(sum(len(Y) | as handle:
foryY print(sum(len(Y) for Y in
inSeqlO.parse(handle,"fasta | SeqlO.parse(handle,"fasta
"))) handle.close() 1))

Which strand of DNA carries the genetic information used in transeri

A. Lcading strand | B. Lagging strand

Best wishes Dr.Nesma




12{ What is the primary function of transfer RNAs (tRNAg)?
A. To carry genetic B. To carry amino acids to C. To form the structure of | D. To catalyze the
information from DNA to the ribosomes during protein the ribosome formation of peptide bonds
ribosome. synthesis.

13} To scarch any of one the Entrez databases, we can use ........... module. It is defined below
A. Bio.Entrez.cscarch() I 3. Bio.Entrez.info() l C. Bio.Entrez.read() [ D. All Of them

14] Which biological process is simulated by using the ExPASy tool?

A. DNA replication B. RNA transcription C. Protein translation DD.RNA splicing

15 is an online search system provided by NCBL. It provides access to nearly all known mmolecular
biology databases with an integrated global query supporting Boolean operators and field search.
A. Swisst | B. pymasviz | C. Entrez | D. BExPASy

16| Which enzyme is responsible for breaking the hydrogen bonds holding the complementary bases of DN A together?
A. DNA polymerase | B. Ligase I C. Primase I D. Helicase

17] During DNA replication, in which direction is the leading strand oricnted relative to the replication fork?
A. 5'to 3' away from the 3. 3'to 5' towards the C. 5'to 3'towards the D.3'to 5" away from the
replication fork replication fork replication fork replication fork

181 Which ctrand af DN A ic cunthocivad diconnfinumancly in cnall faooms avbo T oo
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1. 20 MCQ questions (40 G)
1.| Which function is used to read more than one sequence file at once?
A. .read() | B. .Msaviz () | . parse() [ D. .pairtwist2 ()
2.| Biopython provides module to manipulate polypeptide structures. The protein bank is

the largest protein structure resource available online. It hosts a lot of distinct protein structures,
including protein-protein, protein-DNA, protein-RNA complexes.

A. SeqlO | B. Bio.Entrez ' | C. Bio.PDB | D. Entrez. einfo()

3.| Which one is Not format file of protein?

A. pdb I B. Text I C. mmCIF l . None of the answers

4.| The expected o/p from the following program is

from. Bio import SeqlO

Seq..a= SeqlO.parse("PMI..fasta”, "fasta”)
YY= SeqlO.to_dict(Seq._a)

YY. keys()

A. Scquence [D B. All information about C. Value about sequence D. Just read file




